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Questionfromlasttime why aretheprobability distribution No 6 and ro MoH
z thesame
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lasttimewe introducedBrownianmotion BM WH as a stochasticprocess s t

W O O Wcont incrementsindependent and WH l WHil n ft MOH ft cta

Note a BM existsandis unique
BM is one exampleof a Markovprocess i e futurevalues areindependentofcurrent
valves

BMnot a goodmodelfor stockprices parametersmeanandvariancearemissing

BMcanbenegative

better GeometricBrownianMotion BBM SH Slo e
n Elt GWH

Inthenexthomework weshow thatcalibratedpathsin binomialtreemodel converge to
GBM as u is



Alsoinnexthomework powerfulmethodto numericallyevaluateexpecationvalues

Monte Carlomethod

random samplings to approximate expectation valves

E binomial treemodel for European call options
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bythe weakorstrong lawoflargenumbers

idealhope Otimeefficientmethod since we can toyield goodresults
userandomnessto approximate deterministicproblems

next HWproblem use 613M in MonteCarlomethodforEuropeancalls find

convergencerate


